AP Calculus AB Fall Exam Review WS #2

L Equation of Tangent Lines
1. Find equation of tangent line

a. What is the equation of the tangent to the curve sin(mx) + 9 cos(mry) = x2y at (3, 1)
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b. Find an equation of the tangent line to the graph y = vx — 3 thatis perpendlcular to Y-=5(x-4)
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c. Find an equatmn of the tangent line to the graph y = x3 that is parallel to 3x —y—4 =0
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" Problem #3 The tangent to the curve y = 22% — 322 — 6z is parallel to the line y = 6z — 1 at
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L. Limit Definition of 2 Derivative

Limit Definition of a Derivative: ) = I fle+h)—f(o)
This is merely an expression for finding fie)= hl_rfé 13
derivative or finding derivative at a point.
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III. PVA and Particle Motion
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5. A particle moves along a horizontal line._ Its position function is given by ‘
x(t) = t* +6t+27 forvalues0 <t < 4. S ‘
|

a. Find the displacement of the | b. Find the distance the particle c. Att=4&,is the particle’s speed
particle over the given time traveled over the given tirpne increasiag or decreasing?
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7. (Calculator section) An object moving along a line has velocity v(t) = tcos(t) — In(t + 2), where

~ 0<t<10.
a) For what value(s) of t is the object motionless? | b} How many times does the cbject reverse
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